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Vidya Vikas Mandal’s
Shree Damodar College of Coniineree & conomics, Margao-Goa
FYBBA(FS), Semester-1 (REPEAT), Semester End Assessment APRIL 2023
BFS GECI- Quantitative Skills

Max Marks: 60

Duration: 2hrs

[nstructions:
1) Start each question on fresh page.

2) Figures to the right indicate maxinium marks.
3) Non-scientific, non-programmable caiculators are allowed

Q1  Answer the following [2x6=12 Marks]

A. Simran lists down her monthly expenditure as follows. Draw a
suitable diagram to represent the data:

Expenditure | Amount
Rent 4000
Food 5400
Clothing 2800
Savings | 400 |
B.
Write the procedure of drawing:
. a percentage bar diagram
ii. less than and more than cumulative ogive
OR
0Ol  Answer the following [2x6=12 Marks]
X. Series1
40 -
35
30
25 - -
20 = Serizs 1
15
10
0
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Q2.

Q2

+ State whether the following lines have

. Solve the following simultaneoys

. Find the roots of the followi;

- Rs 480 is divided equally

. 4 whesat ery S ,.{;}:\ C :n‘
The above graph shows increase in --hﬁnl over years. Analyz
; aiven below:
graph and answer the questions given belo

l Find the percentage increase in wheat grown in 1994 as
compared to previous year |
i, Find the average wheat grown in all 4 years

fii.  Calculate the increase in average growth of wheat from

1993 to 1995

Prepare a cumulative distribution table for the following data:
State the number of workers are of age

I, less than or equal to 40 years

ii. greater than or equal to 50 years

AE?_”,U_,YEZE'JL_ No. of workers

2025 5 |
2530 9

3035 15 o
3540 25 -
a0-45 23 ]
45-50 12 -
5055 10 ]
5560 3

Answer the following

unique solution, no solution or
infinite solutions. Justify your answer.

3x-5y=4 and -6x+10y=-§

equations by Elimination method

13x-2y=17 and Sx+11y=-17

Aryan went to the bank 1o withdraw Rs 3000 He asked the cashier

notes of Rs 100 and Rs50). Aryan got all together 35 notes. Find how
many notes of cach type.

OR

Answer the following

12 equations by quadratic formula
method:
. IOX2+7X-6=0
ii 533-63-8=0

among some children. If the number of

children were 20 more then each would have got Rs 12 less. Find the

number of children.
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(3x4=12 Marks)

[2x6=12 Marks]
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Aisneet the follow g

S ed Bl an e phane on | monthiy st iments e paid
R0 an the Tt ivtatiment aned thereation toe eaeh fstaltiment e
paned R 0 fess tham the pres o monthy 1 I i

R VO vt over the onipinal price, then i the orlpinal price ol
thae ]\.l\\\l\\‘

P ot e b e e o n ey !

OR

Ansnwer the tollowing

\ compam pets acontiact ol underpronnd eabling of fiberopties In
e st onth it covers total area ol 50,000 5 1 second month the
atea covered inereases by 109 Uhied maonty area covered inereasen
by 10% of second month and soon, Find the total area covered at the
end o 1 year, Also ind area covered in the L™ mondh,

Cld e SO TS o ey, Henee Lind the stum when n 10

Answer the following,

S onthly incomes of Sumya and Ramya are o the vatio 455 and then

expenditure is i the vatio 729, 1Eench saves 1R+ 4000 per month, find
Meir monthly incomes and expenditie,

Divide 115 i the atio 57 and 3t

Vertty whether 435 and 8:10 are in proportion, tenee (ind the Tourth
propottional to 25,130 and 5, Also find mean propottional between
SO and 80O

OR

Answer the following,

Lind the selling price of the following when 5% sules tax is added on
the purchase of

1A towel ol S0Rs

i Twao soap bars at Rs 15 each

i Sk of Mour at Re 1 per kg

[he selling price of 30 items - costprice ol 24 ftems, Caleulate the
profit or loss %

Answer the following, .

A banl pives offers forashort period, frxed deposits for 3 years
I

ander the Tollowing schemes:

[toll (1o

| 2x0 1 "Il

‘.’,\‘(1 |} [\’[llll 'o|

[3x4 12 Marle)

[2x6 12 Marks|

[3xd 12 Marks]
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i AL8%, il the interest is caleulated hall yearly

L AULO%, i simiple interestis cal ulated.

State which scheme is more beneficial to the publi

On selling a mobile at 10% pain and a Laptop af 207 pam, a digatal
shop pains Rs 4000, But if it sells the maobile at 20% gain and Lpop
at 10% loss, it pains Rs 3000 on the transaction, Find the actual price
of mobile and laptop.

Aachal saved Rs 8000 for the first month ol hier jab and 8400 1
the nest. Given that her savings are in AP,

I, Determine the amount she saved in the T8 month and
20" month.
o i . ' tl i i
I, Ratio of savings made in the 125 month and 16" manth
O

Answer (he tollowing

. The taxi charpes ina city consists ol a fixed charge topether withy the

charge for the distance covered. Foradistanee af 1O k. the chiar
paid is Rs105 and for a journey of 15K the charee pad s 12215
Find the fixed charge and the additional charge per ke also calcula
the how much a person have to pay for travelling & distance of 30k
In an AP, the first term is 8. nth term is 33 and the sum ol firstn
terms is 123, Find n and the common diflerence,

Find the time required for sum of money to amount to three tinies
itselat 10% simple interest poa,
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